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Which SAP IBP planning operator can be run to delete planning objects in a certain version?

A. Purge Master Data

B. Purge Key Figure Data Outside Planning Area Planning Horizon
C. Purge Key Figure Data

D. Purge Non-Confirming Data

Answer: C

You created a key figure and want to ackd calculations. Which of the following rules do you consider?
Note. There are 2 correct answers to this question.

A. Aggregation calculations using SUM or MAX functions must be hased on a higher aggregation level.
B. The calculation chain for a key figure must always result in a calculated key figure.

C. All key figure calculations have calculation inputs, which can be marked as stored or calculated.

D. Key figures can be calculated across different planning levels

Answer: C, D

Which planning operators can be executed in a time-series-based planning area? Note: There are 2
correct answers to this question

A. Deployment Priority Heuristic
B. Shelf Life Heuristic

C. Deployment Optimizer

D. Finite Heuristics

Answer: B, D

Vist usat: https.//www.certsgrade.com/pdf/c-ibp-2311



You are invited to review a problem with a customer's SAP IBP Excel template performance. What areas
with the biggest potential performance impact would you focus on? Note. There are 2 correct answers
to this question.

A. Complex calculation graphs for key figures

B. Number of local members and complexity of calculations
C. Number of analytics charts displaying key figures' values
D. Excessive SAP IBP formatting in the Microsoft Excel Ul

Answer: A, D

To visualize an organization's Sales and Operations process, you model an SAP IBP for sales and
operations process chevron. Which characteristics are part of this process chevron? Note. There are 3
correct answers to this question.

A. A step can be started based on a specific owner
B. Each step has an owner and participants

C. Each step has one task

D. Each step has a start and end date

E. A fixed amount of steps

Answer: A,C,D

Which of these conditions must be met to create a Local Member key figure? Note: There are 2 correct
answers to this question.

A. A key figure is selected in the Key Figures lab in the SAP IBP, add-in for Microsoft Excel.
B. Activate Local Member Recognition setting is selected

C. Users should have authorization for template administration

D. Use Excel Cell References in the Report Editor option is selected.

Answer: B, D

Which of the following conditions are relevant for subtotals in the planning view? Note: There are 2
correct answers to this question
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A. The total number of attributes that can use subtotals in the planning view can be restricted.

B. The total value can be added before or after the selected attribute

C. Only attribute-based totals can be added to the planning view.

D. The values of the attribute-based total at the highest attribute level in the planning level can be
changed.

Answer: A, B

The S&OP Operator Profiles app is used to configure different types of algorithms. Which algorithm-
specific settings are unique for the Time Series-based Supply Optimizer? Note. There are 2 correct
answers to this question.

A. Discretization

B. Global cost factors
C. Processing mode
D. Time profile level

Answer: A, B

You want to display and edit data in different Units of Measure (UOM). Which of the following must you
consider before you use the UOM? Note. There are 3 correct answers to this question.

A. Units of measure are usually not time-dependent

B. Analytics allow the user to select the target unit of measure.

C. Unit of measure is an attribute of a master data type, such as Product.

D. Units of measure are usually not time-independent

E. Conversion to the target unit of measure is handled by the SAP IBP Excel add-in

Answer: A, B, C

What are some of the prerequisites for configuring a planning area that results in a successful
consistency check? Note: There are 2 correct answers to this question

A. Configure at most two input key figures on the same planning level in a key figure calculation.

Vist usat: https.//www.certsgrade.com/pdf/c-ibp-2311



B. Component master data types must have at least two components and all components must be

active.
C. Specify a planning horizon in the planning area for each level of the assigned time profile

D. Configure at least one calculated key figure for the planning area.

Answer: B, C
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